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neral Instructions :

'The question paper consists of four sections - A, B, C and D. Section - A consists of 4
questions of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section -
C consists of 10 questions of 3 marks each and Section - D consists of 11 questions of 4
marks each.

All questions are compulsory. ;

. In questions of construction, the drawing should be neat and clean and exactly as per the
given measurements. Use ruler and compass only.

J There is no overall choice. However, internal chmces have been given in some
questions.
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SECTION -'A'(@8-‘31")

| If Vx =5, then find e value of x2. | 1
gf Jx =52, A F 2 HA TG HiSC

2. Using a suitable identity, expand the following : 1

sfaq weafe %1 w9m @ 3 Fefafed w1 afa w1 § fafey
(x/gqcmx/fy—7j

VII-MATHEMATICS ‘ (1)



10.

A cuboid has total surface area of 50m? and latéral surface area is S_Omi. Find 1

the area of its base.
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How many Vertlces, faces does an octagonal pyramid has?

wh s frfrs J feat ¥ o R wew B 87
SECTION - 'B' (@s-‘&')

The area of a square field is 4412 Fmd its perimeter.

@wﬁwn@améliaﬁw%lmqﬁmmﬁl
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Ravi bought a leather coat costmg 3900 at N 990 after paying the VAT. Calculate :
the rate of VAT charged on the coat. 1
o 3 Tk AR we e Tl 77 900 T T, ézéﬁ?qwq%o w9
F TR O FE W A o2 B R T@ B 4

The paint in a container is sufficient to paint an area equal to 9.375m’,
How many bricks measuring 22.5 cm x 10 cm % 7.5 cm can be painted out of 1

this container.
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What is the value of 2x if 3@ = 2197?
e x3=2197 B, A 2x 1 HH I HISTU

The area of a trap;:zium shaped field is 480m” The distance between two 3
parallel sides is 15m and one of the parallel sides is 20m. Find the other

parallel side. b
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SECTION -'C'(@s-¥u’)

[l. Find the square root of 844.4836 by long division method. 3
ot A fafer R 844.4836 1 A A A

D. Find the smallest number by which 2925 must be divided so that it becomes-
a perfect square. Also find the square root of the resulting number. 3
I =AdH Fe 9| H, TEE 2925 H 9N FA W Y A 9 W@ W
wui ot w1 e ot AE wifeal
- ETR
3. Find the value of V2744 + a3

3/
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744 J343 _
14 The valume of a cube is 9261000 m® then find the total surface area of

the cube? . 3

gt B9 &1 ST 9261000 SHHIK ¥, a‘rwm@a@q&amﬁm
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15. Sonia types 630 words in 1 hour. How many words would she type in 40

minutes? 3

aifan 1 =2 H 630 maﬁaﬁa's‘qaﬂaﬁ‘él 40 fe ¥ a8 foran 31al &1 2y
M

16. A fruit seller bought bananas at the rate of ¥ 45 per dozen and sold them at

the rate of ¥ 45 per 10 bananas. Find his gain or loss percent. ; 3

TF B faEd A 45 T U0 TS B QW A DA TR qAq 45 TR A 10
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OR ( 31@T)

During a monsoon sale, a shop offered a discount of 10% on the marked price
of all items. What amount was vpaid by a customer in order to buy a saree
marked at ¥ 1450 and two shirts marked at ¥ 850 each? v
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17. Factorise (EUT:T@@ ifea) : 4(x+y)2 —28(x2 —y2)+49(x—y)2

18. In the given figure £B =70° and
CE || AB. If ZECD = 35°, find
the values of x, y and z.
few o fom § 2B =70° qen

CE || AB ®| af€ LECD =35°
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19. Inthe given figure, [ || m. : p q
Find Za, £Zb and Zc. 140° 85°

A

Is p |l q ? Give reason.
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20. Draw the line paésing through (2, 3) and (3,‘2).‘ Find the coordinates of the '.
pomts at which this line meets the x-axis and y-axis. |
fag (2, 3) @@ (3, 2) @gmﬁm@%@@m|wﬁ§aﬁa&ﬁémg
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Alternate question for visually challenged students in lieu of Q. No. 20

0H, 203 T W ghe aifa faarfdat & fau S e

A train 210 m long takes 12 seconds to pass-a 90 m long tunnel. Find the speed

of the train in km/hr. :

210 Hex T T 10 et o T T W FE 12 GR0E o
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SECTION - D' (&e-T')

. There are 1000 students 1n a school. Each student wants to plant a tree to
raise global awareness against deforestatién.’ They want to plant the trees
in such a way that the number of rows and the number of columns remains
same. Find the minimum number of extra plants required for such an
arrangement. Which value is shown by these students? |
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. If 13 men can do a piece of work in 140 days. In how many days, 28 men will

do it? How many men will be required to complete the work in 35 da’Ys?

?Ikmsqﬁm@mﬁmoﬁﬁﬁm%;aizswﬁawwaﬁmﬁ
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. Raghu has énough money to buy 72 machines worth ¥ 200 each. How many

machines can be bought, if he gets a discount of 10% on each machine.
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OR(W)

Anuj is driving his car at a constant speed of 45 km / hr.
(i) How far will he reach in 220 minutes?

(i) In hcjw much time will he cover a distance of 180 km?

oS S wR 45 TR / 92 F faa 9@ ¥ 5 @ R
@) 220 fee ® W@ fead @ WS 2%
(i) 180 frf. =1 i 99w o W e wwg @m?
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24.

25,

26.

27

28.

A man sold two tables for ¥ 2970 each. On one he gained 10% while on the
other the lost 10%. How much percent did he gain or loss in the whole

transaction?
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‘How much a shopkeeper must mark his goods so that after allowing a
discount of 25% on the marked price, he gains 20%, if the cost price of the
goods is ¥ 20,000?

@Wmmzoooom%mwwwmwm
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Simplify the following using suitable identity. A ‘
St gagfEe &1 & w3 gu fefafed aﬁ LS L] aﬂﬁm

8.63x8. 63 1.37x1.37
0.726

Evaluate the following by usihg suitable identities.
Sfea werafRt 1 yam wX fFEfafed 1 7F 9@ S
211 x 189 - 106 x 93

Draw a line segment of length 5.5 cm and divide it internally in the ratio 3 : 2.

Also find the length of each part.

5.5 WHL. 1 T T@EUS SfAT 1 THH 3 ¢ 2 H IPAW H oq: fawnd
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Alternate question for visually challenged students in lieu of Q. No. 28
E. 2szhwanl‘wa®aﬁar&ﬁf%mmw

A shopkeeper sold a camera for ¥ 1080 gammg 1 of its cost price. Find

(i) the cost price of the camera

(ii) the gain percent earned by the shopkeeper.
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. The quantity of petrol filled in a car and the cost of petrbl are given in the

following table.

' Litres of petrol filled 10 12 14 16 18
Lost of petrol (in ) 600 |[720 (840 [960 | 1080

Draw the graph‘representing the above data. Based on this graph answer
the following :
(i) Find the cost of 13 litres of petrol

(ii) How much petrol can be puféhased for 12007
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Alternate question for visually challenged students in lieu of Q. No. 29
WH. 29% WH W ghe afia faenrhia & fau dwfous uoa
The volume of a metallic cylindrical pipe is 748 cm’®. Its length is 14 cm and its

external radius is 9 cm. Find its thickness.
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A rectangular piece of paper 11 cm x 4 cm is folded without overlapping
to make a cylinder of height 4 cm. Find the volume of the cylinder. _
T AR HIS et o 11 A < 4 9. 2, F e TH doH
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31. A road roller is 140 cm lohg and its diameter is 84 cm. It takes 1000 complete
revolutions to move once over to lével the road. Find the cost of levelling the

road at ¥ 50 per 100 square metres.
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OR( 3¥ar)

A cuboidal tin is 30 cm by 40 cm by 50 cm opened from the top. Find the cost
of tin sheet requlred for makmg 20 such tins if the cost of tin sheet is ¥ 20 per

square metre.
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